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ANSWER, FIND, AND SHADE

FRACTION, DECIMAL, PERCENT REVIEW

Circle the greatest number in each group.

1 5 10 5 5

3 12 14 8 42

Solve.

5 2

6 31

Solve. Answers are expressed as fractions.

2 7

9  56 10

19 1 16 3

36 8 25 4

Solve the word problem.

12.

20

ANSWERS

18 3 25 7

4.  of 21.6 5. 6.

0.05 +

 62.5% of 40 7.  of 108.5 2.4% of 125

8. -0.75 10. 11.
140

1. 34% 0.32 2. 72%

0.05 x9. 20  x  0.032

0.1090.73 3. 0.12 1.5%

Charlie has       the amount of gold coins in Derrick's sack. Derrick has 25% of the amount 
in Buton's sack. If Charlie has 1 gold coin, how many gold coins are in Buton's sack? 
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